ST UDY LD ENTRE
TNPSC GROUP - I MAIN 2021
PAPER - I: UNIT - III
GENERAL MENTAL ABILITY

SYLLABUS
STATISTICS

Conversion of information to data - Collection, compilation and
presentation of data - Tables, graphs, diagrams - Parametric
representation of data.
Reference Book: State Board School Book 9th & 10th(Mathematics)

11th Standard (Statistics)

Appolo Course Material

Gurusamy (Tamil Version)

Elementary Statistics (A.K. Sharma)

QUANTITATIVE APTITUDE

Analytical interpretation of data - Percentage - Highest Common Factor (HCF)
- Lowest Common Multiple (LCM) - Ratio and Proportion - Simple interest -
Compound interest - Area - Volume- Time and Work - Probability.

Reference Book:

Quantitative Aptitude - R.S. Agarwal

Samacheer School Book: 7th & 8t Std Maths [Life Mathematics,
Measurements]
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Samacheer School Book : 9t Std Maths [Probability & Mensuration]
Samacheer School Book: 10t Std Maths [Probability & Mensuration]

COMPUTER TECHNOLOGY

Basic terms,

Communications

- Application of
Communication Technology (ICT) - Decision making and problem solving -
Basics in Computers / Computer terminology.

Information

and

Reference Book: Appolo Course Material,

State Board School Book 11th std. Computer Volume - I

School Book:

Volume

OLD

4.2to4.4

NEW

71to7.5

OLD

8.1t08.4

NEW

41to4.5

General Mental Ability Questions Analysis - 2019

2019 Grp I Main

Quantitative
Aptitude

Statistics

Information
Technology

Total Marks
=50

10 Marks
(2 out of 3)

2Q
1Q (5 +5)

1Q

20

15 Marks
(2 out of 3)

3Q
1Q (7.5 + 7.5)

30

General Mental Ability Questions Analysis - 2017

2017 Grp 1
Main

Quantitative
Aptitude

Statistics

Information
Technology

Total Marks

3 Marks

7Q

1Q

2Q

30

8 Marks

3Q

1Q

1Q

40

15 Marks

1Q

1Q

30

Total Marks

60

11

29
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MENSURATION - 3D Work Sheet

Cube (a1 Fziyid)

e Lateral surface Area (in sq. units) (ussliugliy) = 4a2
Total surface Area (in sq. units) (Qurésliuginy) = 6a2
Volume (in cubic units) (se1 Sierey) = a
Diagonal (cpemev aill"L 1b) = J3a

3

Cuboid (zenFGFeiieusLd)
Lateral surface Area (ussiiugiiy) = 2h (I+b)
Total surface Area (in sq. units) (QT&sLLFLIL]) =2(lb + bh + Ih)
Volume (in cubic units) (ser Sjermey) = Ixbxh

Diagonal (cpenev el L LD) = JIP+b%+h’

Right Circular Cylinder (@piteu’ L. 2 _(hemem)
e Curved surface Area (cueneniiLIyLiL|) = 27rh
e Total surface Area (in sq. units) (QrgSUILTLIL]) 2zr(h+r)
e Volume (in cubic units) (ser1 ieey) = xr’h

Hollow cylinder (2_siefLBB o mener)
e Curved surface Area (euementiLiyLiL]) = 27(R+r)h
e Total surface Area (in sq. units) (QrgsLLTLLY) = 27(R+r)(R—r+h)
e Volume (in cubic units) (ser1 leey) = 7(R*-r*)h
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——

Right Circular Cone (@pieu’ L& 8&nlbL))
o Curved surface Area (suementiLii)) = zrl; I=r?+h?; [ = slant height
e Total surface Area (in sq. units) (GCrsgLLyiLy) = zrl+zr> = zr(l+r)

e Volume (in cubic units) (se1 leney) = %nrzh

Sphere (Bsmemb)
e Curved surface Area (euenenlILITLIL|)
o Total surface Area (in sq. units) (QLTSSLILITLIL])

e Volume (in cubic units) (se1 ieey])

y

==

Hemi sphere (gienysGsmerntd)
e Curved surface Area (euemermiiLyriLf)
o Total surface Area (in sq. units) (QorgsriLyliLy)

e Volume (in cubic units) (ser1 Sieney) = %7”3

Hollow sphere (2_qitefL_p Gamenid)
e Curved surface Area (sueneriiyriLy) 47R?* = outer surface area
Total surface Area (in sq. units) (QrgSUILTLIL]) Ar(R*+r1?%)

Volume (in cubic units) (ser1 ieney) gyz(R3 —rd)
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Hollow hemisphere (2_sitefLBp SienysGsmentd)
e Curved surface Area (eueneniILIJLIL|)

o Total surface Area (in sq. units) (QTSSLILTLIL])

e Volume (in cubic units) (se1 Sieney)

Ero®
|

Frustum of right circular cone (gwll651 SenL &3 6mILLD)
e Curved surface Area (ouenemiiLiyriLy) l (R+1)l =«/h2 +(R—-r)?
o Total surface Area (in sq. units) (QTSSLILFLIL]) 7l (R+1)+7R% + 71’

e Volume (in cubic units) (&1 sieney) %nh[Rz +1°+Rr ]

1. A solid right circular cylinder has radius 7 cm and height 20 cm. Find its (i)

curved surface area (ii) total surface area. (Take 7r=§)

@@ Hewio GpT eu' L o mewenulesr (solid right circular cylinder) synb 7
Q.15 ppd o wgb 20 0F.15 eefed, SOHeT 1. euemenuFl] il. CTHSL

.o . . . 22 .
UBLUTiy SiEluleuBenBs  HTewIsb. (7[276160‘[5)

Solution

Let r and h be the radius and height of the solid right circular  cylinder
respectively.

Giventhatr=7cmand h=20cm
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27

Curved surface area, CSA = 2 zrh 2 X % x 7 %20

Thus, the curved surface area = 880 sq.cm
Now, the total surface area =2zr (h +r)

= =2x§x7[20+7]=44x27

Thus, the total surface area = 1188 sq.cm

. The diameter of a road roller of length 120 cm is 84 cm. If it takes 500

complete revolutions to level a playground, then find the cost of levelling it
22

at the cost of 75 paise per square metre. (Take 7z= 7)

120 Qg5 men(pd, 84 OF.15 @ILL (P OCBTEwIL @ &STeNeven! FLOLILIBHSHSHID
© (HEMeTenUIdh (road roller) QB meuT(H ([ alewemuim’ (HHHL_60
FLILGSHSUILGSHBH. elmanwim (s FHLemev FlLbGSHS Seiermensen 500 (PLHF
GBBISH6T &pev GeuamiBd. allewenm BHHLme0 FWILGSHH @ F.L0 L (HdHE
75 ewugT QiHD, HenevF FWULBGHS DG OFeveneud HT6HISH. (ﬁz% 61601 )

Solution:
Given thatr =42 cm, h =120 cm
Area covered by the roller in one revolution = curved surface Area of the
road roller.
= 2zrh

= 2x§x42x120

= 31680 cm?
Area covered by the roller in 500 revolutions = 31680 x 500
= 15840000 cm?
= 19840000 ) 5ay 2 (10,000 cm? =1 sq.m)

10000

cost of levelling per 1 sq.m = %

Thus, cost levelling the play ground = 1584x75

=31188.
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(APPE LD]

3. The internal and external radii of a hollow cylinder are 12 cm and 18 cm
respectively. If its height is 14 cm, then find its curved surface area and

total surface area. (Take = = ?)
R o erefLmp o (hHewenuler 2 6 ommiIb Geuell SImIEeT (WewmGuw 12 GF.16
BuIb 18 GF.10 ereiis. Gad SiHeT 2 wgb 14 Q5.5 eeled Sieia|menenuiler
suemeNTLITLIL] BB GTHSL UBLLglientd sTews. (7 :gﬂ@ﬁ&)
Solution:
Let 1, R and h be the internal and external radii and the height of a hollow
cylinder respectively.

Giventhatr=12cm, R=18 cm, h=14 cm
Now, curved surface area, CSA =2rzh (R+r1)

Thus, CSA =2 x g x 14 x (18 + 12) = 2640 sq.cm
Total surface area, TSA =2z (R+1) (R-r+h)

F—1l4cm 4

:2x§x(18+12) (18-12+14)

=2xgx30x 20= m
7 7

Thus, the total surface area = 3771% sq.cm

. Let O and C be the centre of the base and the vertex of a right circular cone.

Let B be any point on the circumference of the base. If the radius of the
cone is 6 cm and if #OBC = 60°, then find the height and curved surface
area of the cone.
O wmpid C eamuer 1pedBBuw @b CBHTau L Sanblier DigliGauller emuID
BBIb o FF ee6is. B eeug onliugduiler el LF smm efefiblied gGhaid
QM  UeTall  eaids.  Smbllel  opliLGHuledr b 6 OFf B
20OBC = 60° s1a0fl6d, FnbLNeST 2 WD LOBBILD CUENETLITLINLIS SHITEwTE.

Solution
Given that radius OB = 6 cmm and #OBC = 60° .
In the right angled A OBC,

cos 60° = OB
BC
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= BC = OB
cos60°

..BC= (%) =12cm
2
Thus, the slant height of the cone, I =12 cm

In the right angled A OBC, we have
tan 60° =2¢
OB

— OC= OB tan 60°= 6+/3cm

Thus, the height of the cone, OC = 643 cm
Now, the curved surface area is zrl =zx6x12==72zcm? .

5. Radius and slant height of a solid right circular cone are 35 cm and 37 cm

respectively. Find the curved surface area and total surface area of the

cone. ( Take 7[=§>

R Hewild CBT eu' Ld &bl Sub wwBmIb gruywgn (weosGw 35 6F.10
BmId 37 5.5 eefled gmblier euemeTuLy WBEWID OTSHSU  UBLLFienLs

. 22 .
HTewIH. (7 == Qe

solution:

Let r and I be the radius and the height of the solid right circular
cone respectively.

r=35cm, =37 cm
curved surface area = CSA = zrl =7 (35)(37)

CSA =4070 sq.cm
Total surface area = TSA = zr[l +r]

:§x35[37+35]

Thus, TSA = 7920 sq.cm

6. A sector containing an angle of 120° is cut off from a circle of radius 21 cm
and folded into a cone. Find the curved surface area of the cone. (Take
22
== )

T
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(APPE LD]

21 Q.18 sugupeten @b Ul LSHeNmba 120° ewowids Gzmewid O&TewIL &
Al Lé Gamewliugdenwl Oeul 19QuIbhHSH, DISHET DLTHIHENET QEINNITIHDHI Q(H

. . . o . . . 22
FnlDLITHH 60, HemLHGWD FnlDLIGH UEMETLILTLINLIS SHTCRIH. (7r=7)

solution:
Let r be the base radius of the cone.
Angle of the sector 6 = 120
Radius of the sector, R =21 cm
When the sector is folded into a right circular cone, we have
circumference of the base of the cone
= Length of the arc

=27r= 4 x277R
36

o

0

=1 = xR
360°

o

o

Thus, the base radius of the cone, r = ;(250 x21=7cm

Also, the slant height of the cone,
[ = Radius of the sector
0
~ 360°
Thus, [ =R =21 cm
Now, the curved surface area of the cone.
CSA = 7rl

= %x?lez 462

x TR?

Thus, the curved surface area of the cone is 462 sq.cm

Another method:
CSA of cone = Area of the sector

=462 sq.cm
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(APPE LD]

7. A hollow sphere in which a circus motorcyclist performs his stunts, has an
inner diameter of 7m. Find the area available to the motorcyclist for riding.
(Take 7z=§)

7 15 o el L(peiTen @ 2 6ailmns CamendhdHamiel o L LBTe @@ FToHdHerd
iyt GumlLrT emasbsHleled gFTHFD OCFUSDBIT. DbHdH FTHF QT STHFD
CFuwns LGB 2 eTefBps Carenshgler o L LBLLIFlienLd esrrmﬁas.(;r:%
616315
Solution
Inner diameter of the hollow sphere, 2r =7 m.
Available area to the motorcyclist for riding = Inner surface area of the
sphere
= Axr?=7(2r)*
22

= —x7?

Available area to the motorcyclist for riding = 154 sq.cm

. A hollow cylindrical iron pipe is of length 28 cm. Its outer and inner

diameters are 8 cm and 6 cm respectively. Find the volume of the pipe and

weight of the pipe if 1 cu.cm of iron weighs 7 gm.( Take nzg)

R 2 eTafiLms &by  @wtulear mberd 28 6F.15, 9B Oeuerdl  OBEID

o el Lmisel (wopGw 8 OF.15 wBmid 6 6F.15 eleled, SIS GLomullesr

BT SleNTenald HTewid. Gwed 1 &.0F.15 SbLer elenl. 7 &IFTD  elelle,
- . . . 22

GBS GPTUl6ET 6TeNLemUI  HIT6uNTb. (72':7)

Solution

Let r, R and h be the inner, outer radii and height of the hollow cylindrical

pipe respectively.

Gem

(= |

="
—— 8cm —

Giventhat2r=6cm,2R=8cm,h =28 cm
Now, the volume of the pipe, =V = zxhx(R+r)(R-r)
- §x28(4+3)(4—3)

Volume V = 616 cu.cm

10 | P a g e APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




Weight of 1 cu.cm of the meter =7 gm
Weight of the 616 cu.cm of metal =7 x 616 gm
Thus, the weight of the pipe = 4.312 kg.

9. The radii of two circular ends of a frustum shaped bucket are 15 cm and 8

cm. If its depth is 63 cm, find the capacity of the bucket in litres. ( Take
22
R Bl sHenil  eugaleomer eumefluflesr GoBuUm OBBID SIQLIB  SLIHISG6IT
wpempBuw 15 G5 wmmid 8 OF.15 Guwebd, S 63 OF.15 eelled, SIFHed

Qsmeitenenenal 6L LMe0 HTeawic. (n:%)

T

Solution
Let R and r are the radii of the circular ends at the top and bottom
and h be the depth of the bucket respectively.
Giventhat R=15aem,r=8 cm and h = 63 cm.
The volume of the bucket (frustum)

= %ﬂh(R2 +r?+Rr)

%x§x63x(152+82+15x8)

26994 cu.cm

= 269%4 liters (1000 cu.cm =1 litre)

Thus, the capacity of the bucket = 26.994 liters.

10. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm
and 7 cm, find the volume of the frustum.
45 Q&5 2 _wgpeten QT L SHNILSHIE BH LB DJmISeT (pempGur 28
CF.5 ML 7 OF.15 eleled, EeNL HHWIL HHT H6 DIGTNAUS HTEWIS.
Solution
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Let h, r and R be the height, top and bottom radii of the frustum.
Giventhat h=45cm, R=28cm,r=7 cm

Now, Volume = %7z[R2 +Rr+r?]h cu. units

= %X§X[282+(28x7)+72]><45
%x§x1029x45=48510

Therefore, volume of the frustum is 48510 cm?

11. A funnel consists of a frustum of a cone attached to a cylindrical portion 12
cm long attached at the bottom. If the total height be 20 cm, diameter of the
cylindrical portion be 12 cm and the diameter of the top of the funnel be 24
cm. Find the outer surface area of the funnel.

T o (mewenullell 16& @T BeML SHeWI D BHeMIHIHAUTH DIWWHS (I  L|6TeVl6dt
(funnel) Guwrds o wyb 20 G o Hewemuiesr o wyb 12 G&.5 WLBBID
Al Llb 12 Q815 oGb. B SbHemiGHHer Gomum ol Lid 24 6F.0 eefev,
YeoteVlest Geuelliymll uglienud Hewishal(hb.

Solution :

lZ2em

—_ l 2('[]1 _—t 8('I]l —

—
Let R, r be the top and bottom radii of the frustum.

Let hy, h, be the heights of the frustum and cylinder respectively.
Giventhat, R=12cm,r=6 cm, h, =12 cm

Now, h1=20-12 =8 cm

Here, Slant height of the frustum [ = [(R-r)? +h? units

= 36+ 64
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[=10 cm
Outer surface area = 2zrh, + z(R+r)l sq.units
= f2rh, +(R+1)I]
= 7[[(2><6><12)+ (18x10)]

= 7144 +180]

= % x324=1018.28

Therefore, outer surface area of the funnel is 1018.28 cm?

12. A cone of height 24 cm is made up of modeling clay. A child reshapes it in
the form of a cylinder of same radius as cone. Find the height of the

cylinder.
serMoewt Gamenwi(h GFwiul L 24 GF.10 o WFpeiTen @b dnlbenl @ GLHmSD
98 TN QT 2 (HeMTWTSH LOTBBISMBSI.  6leled 2 (HemeTuledl o uwifib
SBITE0T .

cone cylinder

B4

=

rcm

Solution
Let h; and hy be the heights of a cone and cylinder respectively.

Also, let r be the radius of the cone.

Given that, height of the cone h; = 24 cm; radius of the cone and cylinder
r = 6cm
Since, Volume of cylinder = Volume of cone

zr’h, :%ﬂ'l’zhl

h, =%th gives h, =%x24 =8

Therefore, height of cylinder is 8 cm.

13. A right circular cylindrical container of base radius 6 cm and height 15 cm
is full of ice cream. The ice cream is to be filled in cones of height 9 cm and
base radius 3 cm, having a hemispherical cap. Find the number of cones
needed to empty the container.
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6 OG5 o wLBm 15 60 o wpb OFHTEHIL T 2 (HweT 66l
UTHHTHH60  (PIUBHIOTS Udbnld 2 6Tengl. Db LeNSIpTardHl, FnlbL
BB DIMISCHTEND ewenibd 6lgasHHled HIFLILILGSBS. Snbliler 2wy 9
OF.5 oB@Id b 3 0515 eeled, UTHHISHDHE0 2 66 Laldbgnenp HIFLIL
THHMEH FnlDL|H6IT ChHemeu?
solution:

Let h and r be the height and radius of the cylinder respectively.

Giventhat, h=15cm, r=6 cm

Volume of the container V = zr’h cubic units.

= %x 6x6x15

Let, r1 = 3 cm, h; =9 cm be the radius and height of the cone.
Also, r1 = 3 cm is the radius of the hemispherical cap.
Volume of one ice cream cone = (Volume of the cone + Volume of the

hemispherical cap)

= %ﬂleh1 + %721’13

1><§><3><3><9+g><g><3><3><3
B ¥ 3 7

= 22, 9(3+2) = 2215
7 7

volume of thecylinder
volumeof oneicecreamcone

Number of cones =

22 6x6x15

Number of ice cream cones needed = 722— =12
) x 45

Thus 12 ice cream cones are required to empty the cylindrical container.

14. Two cubes each of volume 216 cm3 are joined to form a cuboid find the
T.S.A of the resulting cuboid.
&0 ey 216  &.065.185 emeyeen G  SOIFFHTEISET UL SHFH60
ST 1guleenaumml  BenenssLILBGLCUTEH HL G SHaT&FLFasHH T  OLOTSHSL]
LJLIeDLIS STewmIsb.
Solution

Let the side of each cube be = a. Then, a% = 216
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a = ¥216=6cm
Now the two cubes of side 6 cm are joined to form a cuboid. So,
A=6+6=12cm,b=6cm, h=6 cm
.. T.S.A=2(b+bh+ Ih)
=2[12x6) + (6 X 6) + (12 x 6)]
=2[72 + 36 + 72]
=2 x 180 =360 cm?

15. Johny wants to stitch a cover for his C.P.U whose length, breadth and
height are 20 cm, 45 cm and 50 cm respectively. Find the amount he has to
pay if it costs ¥50 per sq. m
bemb SiBed o wgh  womBGw 20 0.5, 45 OF.15 wBp 50 GF.15
genajmLuwl @ CPU ealBg o o opds mrel elmoblilamer. o enmpuller
alemev 1 gy BLLMBSSG I 50 aafled, 2 B mHHS UG OFevameld

HTENTH.
solution:

20cm

The cover is in the shape of a one face open cuboidal box.
[=20cm=02m,b=45cm=045m, h=50cm =05m
.. Area of cloth required = L.S.A + area of the top

=2(+b)h+Ib

=2(0.2+0.45) 0.5 + (0.2 x 0.45)

=2x0.65x0.5+0.09

=0.65 + 0.09

=0.74 sq.m

Given that cost of 1 sq. m of cloth is ¥50
cost of 0.74 sq.m of cloth is 50 x 0.74 =3¥37.

16. Find the L.S.A, T.S.A and volume of a cube of side 5 cm.
5 08 uss Seney BTNl SOFFHTSHHET  OOTHSL  UFLL  LSSUIUTLIL
IOBOILD ST D66 B UIUBENBEDH  BHIT6HIb.
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Solution
L.S.A =4a2=4(5?) =100 sq. cm
T.S.A =6a% =06 (5% =150 sq. cm
Volume = a3 =53=125cm3

17. The side of a metallic cube is 12 cm. It is melted and formed into a cuboid
whose length and breadth are 18 cm and 16 cm respectively. Find the
height of the cuboid.

o CoumasHaTer AT QRH SAFFHTSHHE LSS Sleey 12 CF.0  SigHene
® hHH 18 GF.6 mHembd LoBmID 16 OF .15 SIFH6VID 2 66N QIh HAIFOFaIIBLD
o (hUTSHELILGIBH. DibHdH FANFOFIABHHGT 2 WTHMBH HTEwIH.
solution:
Cube cuboid
Side (a) =12 cm length (/) =18 cm
breadth (b) =16 cm
height (h) =?
Here, volume of the Cuboid = Volume of the cube
[ xbxh=a3
18 x16xh =12 x 12 x 12
e 12x12x12
18x16
h=6cm

18. The length, breadth and height of a cuboid are in the ratio 7:5:2. Its volume
is 35840 cm?. Find its dimensions.

QR SANFOFMIUBHH T HolD, DIH6VD LOBEID o WFHHST aldHD 7:5:2 er6is.
oIFeT St eney 35840 GF.15 erafled DIHET LIHH D66 HEN6NE HIT6U0TH.
solution:
Let the dimensions of the cuboid be
l=7x,b=5xand h = 2x
Given that volume of cuboid = 35840 cm3
I xb x h=35840
(7x) (5x) (2x) = 35840
70x3 = 35840
o = 35840
70
x3 =512
X = 3/8x8x8
x =8 cm
Length of cuboid =7x =7 x 8 =56 cm
Breadth of cuboid = 5x =5 x 8 =40 cm
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Height of cuboid =2x =2 x8 =16 cm

19. Two identical cubes of side 7 cm are joined end to end. Find the Total and
Lateral surface area of the new resulting cuboid.
7 Q&8 udbs Seneyeien @Gy wTHfwTer ST HHIFFHITHIBET 6EIMIL 60T
Q&M LSBT 1960 BeneibSLILBIOEUTEH S SGHID LHW  HeTFOF6iIals a5 6o
QTHSLILTUL WBDBID USSILTLIL LESWIBENDBS HT6wIS.
Solution
Side of a cube =7 cm
Now length of the resulting cuboid (/) = 7+7 =14 cm
Breadth (b) =7 cm, Height (h) =7 cm
So, Total Surface Area= 2 (Ib + bh + 1h)
2[(14x7)+ (7x7)+ (14 x 7)]
=2 (98 + 49 + 98)
=2 x 245
=490 cm?
Lateral surface Area =2 (1+b) x h
=2(14+7)x7=2x21x7
=294 cm?

Work Sheet

5 Marks

1. Find the TSA and LSA of the cube whose side is 21 cm
21 Q518 udss SeTmeud BT SRFFHTHHST GLOTSHSUILTIL  OBEBID
LS SLILTLINLIS SHT60TH.

If the total surface area of a cube is 2400 cm? then, find its lateral surface
area.

Qm saFFHysSHar Qwrssiugiy 2400 Qs eefed, SIHET LSSILTIIDLIS
BHIT60TDH.

The dimensions of a match box are 6 cm x 3.5 cm X 2.5 cm. Find the
volume of a packet containing 12 such match boxes.

@@ SO uiesr SemaiseT 6 OF.18 X 3.5 a8 X 2.5 QF.15 a1 2_6Teng).
86 oemeaysmen o emLuwl 12 Sl igHeT OBTENIL @  HLIQET  HE
S|oTTeN6UD  HIT6ITH.
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(APPE LD]

The length, breadth and depth of a pond are 20.5 m, 16 m and 8 m
respectively. Find the capacity of the pond in litres.

QRH GHeNSHHleT [Henb, Sigeold WBHID S pewmGuw 20.5 15, 16 5 oB@IDd 8
1§ eTeolle0, DbHH GeNdHHer Gdmeitenenal edLLfled HTewis.

4 persons live in a conical tent whose slant height is 19 cm. If each person

require 22 cm? of the floor area, then find the height of the tent.

grywgd 19 0515 OsTeNIL &bl elgeud SLTIHHL [BT6OT O 6iT6edlT.
RUHUMHBE 22 F.0515 ugiy GCHpeweu aefled FLATHIGT 2 WITHMHH
H6ThHIL_ LD,

The dimensions of a brick are 24 cm x 12 cm X 8 cm. How many such
bricks will be required to build a wall of 20 m length, 48 cm breadth and 6
m height?

@@ OFmhIBLelT enamet 24 OF.18 X 12 QF18 X 8 GF.15 SuEb. 20 16
beTD, 48 GF.L0 SlevsD WLBBID 6 5 2 WIIPeTen @ G eIRLILISBEGH D3
Cumeiis e1dhHemen OFmisBHe GgHemeu?

7.5 Marks

1. A solid iron cylinder has total surface area of 1848 sq.m. Its curved surface area is

five - sixth of its total surface area. Find the radius and height of the iron

cylinder.

QM Hewio @@ o mewenuler  OordH sl Upliugiy 1848 F.u6 Guwend  SiHe
auemeUTLIL, QT HSU LUBUUgLiled Sipfled MbdH URISTGHID 6lene0, E)HL 2 (hHemermullesr
LI OBEWILD 2 _WITLD  BTEmTeYLD.

. The radius of a sphere increases by 25%. Find the percentage increase in its
surface area.

o GarangHar oub 25% oiaeNsEnlurg, SiFswrEgd Upiurliles FeHaisn
SBITC0I .

. Curved surface area and circumference at the base of a solid right circular
cylinder are 4400 sq.cm and 110 cm respectively. Find its height and
diameter.

@ FHewio CHT eulL o (Hewemulem euemeLITLIL OBMILD SIgFFHBmene] (WwenpGu
4400 .06 1oppd 110 OF15 eefed, GelamHevenulsr 2 WIFSHmSHUILD
Al L SHmBHUID HT6wIb.

The central angle and radius of a sector of a circular disc are 180° and 21
cm respectively. If the edges of the sector are joined together to make a
hollow cone, then find the radius of the cone.
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180° emiowiss Gamewi(pid 21 QF.15 oupd Odmewi el L Gsment  allgaileome

BmbYS HBLIQET LIRS BenewishdH @(H Fnlbl] 2 (HaUTHSUILBSH MBS 6l60Tev,
DGO LT HMHDH HTEHISH.

. The radius and height of a cylinder are in the ratio 5 : 7. If its volume is

4400 cu.cm, find the radius of the cylinder.
QM 2 (Hewemulledl SLID LBMID o wFsHHer aldlabd 5 : 7. Goad DIHT SHe
oleney 4400 5.05.15 ereied, Sieia|HmeTUIT DTHMBD HT6U0TH.

Through a cylindrical pipe of internal radius 7 cm, water flows out at the
rate of 5 cm/sec. Calculate the volume of water (in litres) discharged
through the pipe in half an hour.

7 QF15 2 6T oib OsmewiL o (Hewem eugen @Goruler anfGu 5 Qg /
alemg CousdHHed HewrenfT UTUISBH. v Wewl CHIHHed DIS@&TUI euHGu
UTUIhS SHewteniflel Hel Siemeneud (60 LMed) HTewis.

10 Marks

7.

A cylindrical bucket of height 32 cm and radius 18 cm is filled with sand.
The bucket is emptied on the ground and a conical heap of sand is formed.
If the height of the conical heap is 24 cm, find the radius and slant height
of the heap.

LDGWTEVLTEY BIFUILLILLL. @(h 2 _(Hewel algel euTefules o wigib 32 .16 wBpid
oJb 18 GF.6 Sbwenied (WPIPeUGHID Hemgulled e ChTaulLd Gnlbl eugailed
CaT LluGaBgs.  SeleuTy G&Tl iU’ L wewiB  dmibller o wgb 24 6F.10
SIGHInDLIT SLID WBBID FTWWLTSHDSHSH BHTENISH.

A right circular cylinder having diameter 12 cm and height 15 cm is full of
ice cream. The ice cream is to be filled in cones of height 12 cm and
diameter 6 cm, having a hemispherical shape on top. Find the number of
such cones which can be filled with the ice cream available.

12 Q518 allLpd 15 QF15 o wgupld Osmewi GhiTeul L 2 (HeWem (LPIAISHID
ueldaniptengl  (ice cream) myiuiul Beengl.  @lueldamiprerg 6 Q.8
el L, 12 Q.15 o wgwb OCsmeiL GCuoBubl mysCGsTend Emenibhs
algalevmonhdh  dnlbllled  BIUULUGEBSE.  THHMT  FnlbLBH660 L6 gnLOlenent
(PPGUGIOTS  [BIFLILIGVTD 6160  BHIT6NwISb.

A right angled triangle PQR where Q= 90° is rotated about QR and PQ. If

@R=16 cm and PR=20 cm, compare the curved surface areas of the right circular
cones so formed by the triangle.

POR e QmBastent  (psGaranssHes QR = 16 Gg.8, PR = 20 Gs.15 wmypibd
ZQ = 90° g, OR wppgd PQ u oww siFsasames0stesh  siommibGurg)
©_(HaUTGLD Snlbsbellalr euenemLITLILGmeT QUILTHES.
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A solid sphere and a solid hemisphere have equal total surface area. Find

the ratio of their volume?
R Hewind Gamend wBEID  FHewio  DWIHCHETeNHHeT  QOTHSHU  UFLIL
FLOTOIHTH B(HBHGLOTEIT60 DUBIET ST Di6eyHerer alHHID HT6wIb.

A vessel is in the form of a hemispherical bowl mounted by a hollow
cylinder. The diameter is 14 cm and the height of the vessel is 13 cm. Find

the capacity of the vessel.

RT  SlsCasmenddler  Gsd T o e6TefL@Bp 2o (hewenenwlll  GUT[HSHIH W
AYASH60 DIMIHSH eH SHewienidHHen el Lid 14 OF.16 wBpbd o wgd 13
OF.10 eTedlle0, DIH6T OBTeiT6NENTEN6EUDH HTENISH.

15 Marks

12. A capsule is in the shape of a cylinder with two hemisphere stuck to each
of its ends. If the length of the entire capsule is 12 mm and the diameter of
the capsule is 3 mm, how much medicine it can hold?

@G Wwoha U, @i o moenulsl SeUBWL SimJs  GaTend  Gemenihd
augaled o eengl. GUUuler Oorsdsd merd 12 W5 wBp el 3 1.
aT6a1l6L, IFHE0 DML SHBLLIBLD LO[HHH AT H6T DieTeN6UD HT6HIH ?

Seenu’s house has an overhead tank in the shape of a cylinder. This is filled by
pumping water from a sump (underground tank) which is in the shape of a
cuboid. The sump has dimensions 2 m X 1.5 m x 1 m. The overhead tank has its

radius of 60 cm and height 105 cm. Find the volume of the water left in the sump

after the overhead tank has been completely filled with water from the sump
which has been full, initially.

ol aillgenr Gevpleney BTHOSHT Y o (HeweT ealgaled 2o 6iTeNdHl. DIHeT QI 60
Q&5 1oBmib o wyb 105 QF.16. 2 15 X 1.5 15 X 1 1§ ufloreomisenet 2 ewLul &
saFOFaINBS SpBlemey BT CeTiuiledmba BT 2 bHUU' G GuwGeoujeien o (Hener
augeudh O Tl wewemwwrs BHILULUGEBE. OHTLS55PH60 S oTliguisd B
(ppemWned BmUUsTeas HHHS. Cwed 0T 19dHE BT gBpsiw Upg Wapsten Bifler
BT DIEMEUD HTEWISH.

A solid sphere of radius 6 cm is melted into a hollow cylinder of uniform
thickness. If the external radius of the base of the cylinder is 5 cm and its

height is 32 cm, then find the thickness of the cylinder.

6 QF.0 SueTen e Hewlod Gamembd o (HESUIUL(BHF FITeT HIQLOGIGT6N eI
o aTefLMB o (Hewenwims LMBBLIUGHBH. 2 (Hwenulear Geuell b 5 GF.0
BmID 2wy 32 0F.15 eleled, 2 (HemeTulledl SHIQLDeN6IH HT6wISb.

The barrel of a fountain-pen cylindrical in shape, is 7 cm long and 5 mm in
diameter. A full barrel of ink in the pen will be used for writing 330 words
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on an average. How many words can be written using a bottle of ink
containing one fifth of a litre?

7 Qg0 BEM(PGTEN T 2 (Hewel algel D Gheveuulet el Lb 5 .5 uGLb.
MDD (LP(LYEMLOWITHEY6TEN 2 (Hemenenwd Oameni®  Fgmaflwnsg 330 euniT&HamSHH6
GI(IR&H6UMD. @ I LMled MmbHL e UBEG D @ UTLIgelled o 6iTeng
o660, DIHEMEIL! LWLTLBGSHS 61HHM GUTTHNHHEIT 6T(LPHEUTLD?

The slant height of a frustum of a cone is 4 m and the perimeter of circular ends
are 18 m and 16 m. Find the cost of painting its curved surface area at 3100 per sq.
m.

QT DL HHWILSHHST B (Lpeveribelenr Smmeneaydser 1815, 16 16 1OBBID SIGH6T
gruyb 4 8 Eb. @m g BLLGHEG I 100 afsbd S ssemwl&ae6
QUEM6NLITLILIED 6uTeolld LLF G OTHsHF OFeve | eTeiren?

A toy is in the shape of a cylinder surmounted by a hemisphere. The height
of the toy is 25 cm. Find the total surface area of the toy if its common
diameter is 12 cm.

RT o mewenuwlal 1BFh T DeojsCamend QenewibSHoUTH 2 6ol (M
Qumbenioullesr QomdHgh o wigid 25 0F.15 SHGb. DG allLd 12 0.5 eelev,
Qumbenoullesr QLTSS LBLILITLIEMLIS SHT6u01H.

Previous Year Questions

A cyclindrical tank of diameter 35 cm is full of water. If 11 litres of water is
drawn off, find the drop in the water-level in the tank.
35 cm &l L (peitemn  @(H 2 _(HEW6N  GUIQAISHEIENIT BT  (PIPGUSBID  FHEuT6mHT
o eitengl. OFHTQuiledl(phgd 11 LT  SHewiewiT eIBSHSIULB Il L. 6T6ileL,
CaTLuiaiel BT L $&He0 gBuUBLD allpFdlemuid Heaui(BLIY

(GROUP 1, 2015, Section 8 Mark)

Find the number of lead balls of diameter 1 cm each that can be made from

a sphere of diameter 16 cm.
16 Qg.16. allLpewLwl Gamenmiseaiel(phhg SHwLsGn 1 OF.15 il L (penLul
FBlws CoHTenmiseT 6T6wT6nNHmBMUIS BHTEIH.

(DEO, 2015, Section 3 Mark)

If the volume of a right circular cone of base radius 4 cm is 16 m cm3, then
find the slant height of the cone.
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SYlILGS Ul LSHHET b 4 CF.0 OsTewiL @b UL GhiTambller &He6r Siemey
167 &.05.6. claled DIH6 FTUIRWTLD SHT6EWISH.

(GROUP 1, 2013, Section 3 Mark)

(A) A cone, a hemisphere and cylinder have equal bases. If the heights of
the cone and the cylinder are equal and are same as the common radius,
then find the ratio of their respective volumes.

(B) If the volume of a solid sphere is 7241 %Cu.cm. then find its
radius (n:%)

c. A Thanjavur Toy is in the shape of a cone surmounted on a hemisphere.
If the diameter and the total height of the solid are 21 cm and 25.5 cm

respectively, then find its volume (Take nz% ).

(&) @M Gwlbl, @h mIHCHTID OBBID @H 2 _(HeweT LBHUIeT FLD
SIQUILITLIL I 6n60Teh OBIT6mT(H6IT6ITEOT. GnLDL 60T o _LIJLD. o _(memeruilear

o WIHFBG  FOOTSeD, GLEID  SeleWID - SeuBBlEl  AUTHBBES
FOTHAD  EHHSTD BID  ceapsledl ST DB EhSHmL G 2 sitern
ANBHHHMHH HTCUIS.

Qb  FHewinsds  CamenHHer Hem  Sleney] 7241 %as.@&.uﬁ GRG0 DIH6IT
22 . . .
1= SPHMSE SIS,

HehameyT CuTbeOWTEE  DimFHCaTenHHe  15gH  dnldl]  Senewihl
agaled 2o 6Tengl. SidbHT 2 (hHFHer el LD BBId OTshsd 2 Wb
wpempBuw 21 QF.15 1B@Ib 255 6F.5 eefled DIHET H  DleTEN6UD

) 22 . ,
&Ted. (1=— 6le0ThOBT6ITH)

(DEO, 2019, Section B, 15 Mark)
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